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. / Find the value of ‘[ix“dx ? \/ Find the sum of the Vectors 3 = §:-

and B = 51 + 4]

(A) 2/3
(A) 11i-]

(B) 8/3
B) 11i+]

(C) 2
(C) -11i+]

(D) None of these (D) i+]

\}A What is derivatives if x"? \ﬁ/ If 3= 3i+4] then the magnitude of

the vector 3 i5?

(A) n

(A) 3
(B) n.x"

(B) 4
(&) n.xmt @ s

(D) None of these | (D) None of thse

i dX g7 X If A and B are square matrix of order

3 1+sinx
' 2 then (A+B)? will be
(A) O
A) A2+2AB+B?
(8) 1/2
(B) A24+2BA+B?
(1 (C) Al+AB+BA+B’
(D) None of these (D) Nong of these
1041\D\2023 [3] PO
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;  which one is vector quantity /1.0

(A) Distance

(8) Speed

¢C) Force

(D) None of thege_

\8 If A and B are two vector then

If A |s matrix then (A'Y will be

(A) 1
&) A
(C) O

(D) None of these

What is the relation between f(a) ang

' 11.
AK.Bis
(A) f(b) according to Rolle's theorem?
A) |ALIB|
(B) O (A) Equal to
(C) |ALIBl.sing (B) Greater than
(B) 1ALIBI.cosb (C) Less than
\)3'-/ If three vectors are colinear than {D} Unequal
[a,b,c] as their product will be JZ/ Find the ad;(lcg Cos X)
JA) 0 (A) tan x
(B) 1 {B) secx
© - (C) 1
(D) None of these ©) —tan x
[4]

10411D12023
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' tor quantity has
12 3|5 SO AVEC
f the matrix
13. Rank o7EHE A=|-1-21 (A) Only magnitude
1 05
(A) 3 (8) Only direction
(@} Has both magnitude and direc-
(B) 1
tion
(S (D) None of these
17. What will be the point of minimum of
(D) 4
the function 2x3+3x2-36x+10
\14. Eigen value of a non singular metrix (A) 1
2
is k then the eigen value of A~ is 8}
(€) 3
(A) -k (D) 4
.J.E’f If y=ax*+b then g% at x=2 is equal
(B) -1/K
to
¢y 1/ . (A) 2a
(B} 3a
(D) None of these
GCj 4a
B Find the value of the I:SK dx (D) None of these
19. If A=i+j and B=j+k then the
0
) value of A.B is
(B) 1 %) 1
{(B) 0
-1
(C) ©) -1
(D) 2 (D) None of these
10411012023 [5] PTO.
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20. Magnitude of the vector

§=‘—__1,§-i+:1§—"'+—v}§-fc is
w1
(B) 1.5
(C) 0.5
(D) V3

. A square i i
}{ q matrix A is called orthog-

v
onal if

) A=A
(B) A™=A-1
(C) AA1=1
{D). AA' =1
\}Z./ A function f(x) is said to be co;ﬂ:in-
uuuslat a point x=a of its domain, if
AA) Limf(x) = f(a)
(B) Umf(x) = f(a)
(C} Limf(a) =f(b)

(D) None gf these
1041\0N2023 |

"‘.-'.

% An eigen value of @ square matyj, N
L4

is zero. Then

(A) IAl=0

(B) A is symmetric
(C) Ais singular

(D) None of these

4. The product of all eigen values of A

is equal to
) 1Al
(B) A-t
(C) A |
(D) A

\,25(. Inverse of I_‘; ﬂ is

(A) [_lff? 1i3|

114 3
(8) ‘2—5-_?1]

110
© 3o 3|

o1 1

Z 4

[6]
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26. If two vectors
a=2i+j+3k

b=3i-2j+k

Then the angle between there is

(A) 45°
<B) 600
(C) Q0o

(D) 120°

'VZ{ Find the Area of a parallogram

sinax
,\}9/. Evaluate I!m sinbx

() o

oo

(D)

30, B(m,n) is equal to

(A) [ xmx-1"dx

whose diagonals are 3i+j+2k and . ) 1/2 ['”si 1D cost™1 B dB

21-2j + 4k o {D_de

W) 43 b A +xT

(B) 4v2 (D) 2" sin"Bcos"s de

(C) 843 31. If f(x)=x?+2 and g(x)=2x-3 are real
(D) 842

(A) O

B 1

(€) 2

(D) 3
10411D\2023

Vlé Find the minimum value of

Ixt-2x3-6x2+6x+1 in interval (0,2}

functions, then (fog)x is
(A) 4x*-12x+11
(8) #+12x+11
(C) _ 4x3-12x-11

(D) 4x2+12x-11

P.T.O.
[7])

https://www.rmpssuonline.com


https://www.rmpssuonline.com/

'#

}z The value of hmg_‘_:; is
£ x-l
(A) O
(8) 1
(C) 2
) 3

034.

1041\D\2023

The Expansion of log (14x) by Ma-
claurin series is

4

XX x
(A) X 2 -+ 3 _T+"”

XIX_L
B) x+p*tatia*

xt . x xt
(C) x- ll+|3_ﬂ &+....

3 L)

&) x+—’§+-’§-—+%+

The product of two unitary matrices
of equal order is

(A) Singular

(B) Non singular

(C) Orthogonal

UofJ Unitary

https://www.rmpssuonline.com

35. A function f(x) 1S

[8]

said to Nave a re

o o
movable discontinuity 2t £=31

(A) f(a+0)=f{a-0}=ffaj
(B) f(a+0)=f{'a-0pf{a)
(C) f(a+0}:f{a—0)=f(a}

(D) f(a+0)=f(a-0)=f(3)

367" Which of the following limits does

not yield 17
(A) Ij[pl

(B) limx?+x7+1

Fe=x

(C) IIET;IE]'-' +1

X+ +32x+1
\(’6) h[n x-3x+ 2

\A7. The integration is the opposite pro-

cedure of

(A) Tabulation
(87 Differentiation
(C) Classification

(D) Sublimation
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\;8./ If matrix A is singular matrix then

3.

-@1-/

what will the value of x?
8 x0

A=|4 02

(A) %2 60

By 4

{(C) 6

(D) 8

For any square matrix A. If A=A",
then A is matrix

{A) Hermitian

(B) Orthegonal

v{,ﬁj Symmetric

(D) Involuntary |

If a matrix A is such . that
4AI+2A*+7A+1=0, then A"t equals
(A) =(4A’+2A+71)

(8) (4A2+2A+71)

(C) -(4A*-2A+71)

(D) (4A%+2A-71)

Which is true about matrix multipli-
cation?

{A) 1t is commutative

(B) It is associate

(C) Bath (A) and (B)

{D) None of these

1041\1D\2023

42. Determine the Eigen values of the

(9]

matrix A.
g8 -6 2
-6 7 -4
2 -4 3
(A) O, 5, 10

n:

(B) 0,3, 10
(€) 0,3, 5
(D) O, 3;15

Rank of Matrix X IS

X =

)

(B) 3

23
4 3
21
87

_p.mle—‘
WO

(C) 2

D) 1

Apply Cramer's Rule and solve
3x+5y-7z=13

4x+y-12z=6

2X+9y-3z=20

(A) .x=1, y=2, z=0

{B) x=0, y=2, z=1

(C) x=0,y=1, z=2

W) x=0, y=2, z=0

P.T.O.
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45. Evaluate m‘_' _[(}:g;)(&x;_lg))
(A) 11
(B) 12
(C) 13
{B) Limit does not exist
46. What is/are conditions for a function
to be continuous on (a,b)?
(A) The function is right continuous
(B) The function is left continuous
(C) The function is continuous at
each point of (a, b)
(P All of the above
sinx

47. Evaluate II'rEl X

E

(A) O
{B) 1
(C) 2
(D) None of the above
48. Examine the continuity of the func-

tion f(x) defined of

_| 5x-4, if0<x=s1
f(x‘)—{4x3—3x, iflex<2 ®

&) f(x) is continuous at x=1

t x=1

(B) f(x) is discontinuous at x=1
(C) Can't say
(D) None of the above

10411D\2023

50.

51,

[10]

(D) None of the above

Discuss the continuity of the function

f(x) = smx2x

when x20 and f(0)=1
at x=0

(A) f(x) is continuous at x=0

(B) f(x) is discontinuous at x=0
(C) Can;t say

(D) None of the above

https://www.rmpssuonline.com
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52, Differantiate 5'”1.11;)(3(1 with re-

spect to /x

(A) 1Ex

-2

{B) 1-x

© 13,

53. Rolle's theorem tells about the

(A) Existence of point ¢ where de-
rivative of a function is positive

B Existence of point ¢ where de-
rivative of a function becomes
Zero

(C) Existence of point ¢ where de-
rivative of a function is negative

(D) Existence of point C where de-
rivative of a function is either

positive or negative

55.

56.

«B)

A determinant of 3 rows (R, H,, R)

and 3 columns (C,, C, C,; has a va:
ue A=15, if two columns C, and ¢ o
determinant are, Interchanged, then
the value of determinant will be

(A) 15
-15
45

~45

(C)
(D)
According to Lagrange's Mean Value
Theorem, there exists at least one
value ¢ of x lying in the open Interval

la, b[ such that f'(c)=
f(b)-f(a
J f(b}-f(a)

b-a , g
(B) f(ag:f(b_]
f(b} + f(a)

b+ a

f{a) + f(b)
. a+b

(€

(D)

57. If f(x)=(x~1)(x=3)(x-5) and a=0,
54. If the function f(x}=x?-8x+12 satis- _
b=4, find ¢ using Lagrange's Mean
fied the condition of Rolle's theorem
on (2, 6), find the value of ¢ such Value Theorem.
that f'{c)=0: (A) 1
L]
A) 6
(A) ®) 2
(B) 8
®f 4 (€) 3
(D) 2 (D) 4
1041\D12023 [11] P10

_
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58. For Cauchy's Mean Value Theorem,

there exists at least one value c of x
lying in the open interval Ja,b] such

that
F(c) _ F(by+f
(R) g'(c) = g{b)-ﬁ%
f'(c} _ f(b)-f
® o =g +_§?§—)
@ el fb)-ta)
9'(c) ~ g(b)-g(a)
(D) None of the above

29. Find the points of maxima and mini-

60,

ma of the function
f(X)=x"-6x2+9x+15
w Maxima=1; Minima=3
{(B) Maxima=-1; Minima=3
(C) Maxima=3; Minima=1
(D) Maxima=3; Minima=-1
Find work done by the force
F = i+ ]+ k acting on a particle, of it
is displaced from the point A(3,3,3)
to the point B(4,4,4)
JA)Y 2 units
(Bi 3 units

(C) 4 units

(D) 5 units

1041\D\2023

[12]

61.
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62,

63.

(D) 6
Find the volume of paralielopiped

whose edges aré represented by

5=2i-3j+kb= i-j + 2k and
Z=2i+3k
(A) 14
. (8) 18
«) -14
(D} -18
i AOAB,OA = 3i+2j-k  and

OB =i+ 3j+k Then, the area of the
triangle is

(A}
(B) 2/10sq. units

'g'vfl_ﬁsq. Units

{C:i %u”fﬁ 54. Units

(D) £/iGsq. units

_https://www.rmpssuonline.com
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., Evalud™® f(tanx + cot xPdx 67. Evaluate [ __dX |

A} tan x+cot x+¢
(A2 (A) cot x+cosec x+c -

(8} tan X=Cot X+¢

_(B) cot x-cosec X+c
(C) tan x-x+c

(C) -cot X+C0Sec X+c
(D) tan x+x+c

g5. For any three vectors 3,5,¢, then (D) None of the above

vector triple product 3x{fxg) = 68. Integrate f{Sx—Zde

(A) (3.©)6-(@@.B)c N
R 55{5x-2r+c

B8 (6.2)3-(3.06
(B) JgiSx+2F+c

(C) (a.c)b+(@.b)c
(C) =L (5x-2F+c

(D) (B.©)a+(@.c)b 16

66. Find the value of A s¢ that the vec- (D) None of the above

tors @ = 2i-3j+k,6=i+2j-3k and 69. Evaluate fxcosxdx

¢ =]+ Ak are coplanar.
(A) x sin x-cos? x+¢

(A) 1
(B) % sin x4cos? x+¢C
(B) -1
(C) o (C} x sin? x+cos x+cC
D
1041{ ) 2 ) x sin x+cos x+¢
\D\2023 [13] P.T.0.
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70. Solve "'y
(A) 8/3
{8 773
(C) 1/3
(D) 5/3

2—

71. What is the value of Lim Y-
y-1 ‘|I'I"2

[’i

(A) 4

(B} 3

(C) 2

(D) 1
The matrices can be added if their

72,

____ Issame
(A) Rank
‘(‘fﬁ Order
(C) Mod

(D) Nane of these
1041\D\2023

\ :
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73.

74,

75,

[14]

The value of '-?!}.’lil Is?
(A) 1
(8) -1
(C) 0

(D) Does not exist
If A is a unit matrix of order N, thep
A*ADI(A) Is

{A) Unit matrix
WB) Zero matrix

{C} Row matrix

{D) Nane of these

If f(x)=e* then the value of c?—xr(xj.
is?

(A) 1

(B) e

¥ e |

(D} None of these
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